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Usage of Gresk alphabet
(G minimum degree,
(G vertex connectivity.
w' (G edge-connectivity,

v chromatic number,

Problem 1 Show that every graph & contains a path of length §{G) and a cycle of

length at least 6{G) + 1 (provided that §(G) = 2). {20 o)

Problem 2 Show that if T is a tree with m edges and G is a simple graph with

8(GY) = m, then T is a subgraph of G. (20 %)
Problem 3 Prove that every k-regular bipartite graph has a perfect matching.
(20 %)

Problem 4 Prove that «(G) < (G} < &§(G). And show that there exists a graph
H with (H) < &'(H) < 6(H). (20 %)

Problem 5 Show that if G is a planar graph, then 4{G) < 5 and x(G) < 6.
(2047 )




